Printer internal components (5 of 7)

13
20 /
b (ooay 17
(J199§)\/@/
(J2034) /
f\ 9
/ \ > \%/
"A05  *AQ4

10 16
\ ~ i —
19 ® Q(smz)
J1934) >/l % (J2011)
(FMe6) 13
RO e

02—y W\SOZ

SEE Cassette

SEE Cassette /
paper-pickup assembly SEE multi-purpose
9 guide assembly

890 Chapter 9 Parts and diagrams ENWW



ENWW

20

501

502

Printer internal components (5 of 7)

Lever, paper-sensing

Intermediate transfer belt (ITB) duct assembly

Cover, cassette back-end
Rail, left, top
Rail, cassette, right

Spring, tension

Low-voltage power-supply assembly

Ring, E

Screw, RS, M3x8

Screw, RS, M3x6

Plate, fan-fixing, front
Lever, door-interlock shutter
Photo interrupter, TLP1243
Connector, drawer

Plate, drawer-guard

Plate, sensor, front
Guide-sensor assembly
Spring, torsion

Fan

Cable, fixing open-sensor

Screw, tapping, truss-head, M4x10

Screw, TP, M3x30

Only highlighted parts are orderable.

RC1-8928-000CN
RM1-4401-000CN
RC1-9201-000CN
RL1-1213-000CN
RL1-1215-000CN
RU5-2796-000CN
RM1-3594-000CN
XD9-0234-000CN
XA9-1504-000CN
XA9-1495-000CN
RC1-9190-000CN
RC1-9220-000CN
WG8-5696-000CN
VS1-7258-000CN
RC1-9235-000CN
RC1-9246-000CN
RM1-4400-000CN
RC1-9244-000CN
RK2-1378-000CN
RM1-5029-000CN
XB4-7401-005CN

XB6-7303-005CN

10

10

Printer 891



